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This study attempts to analyze both simultaneously and partially the effect of LDR, IPR, 
NPL, APB, IRR, PDN, BOPO, FBIR on ROA in Bank Umum Swasta Nasional Devisa. 
The sample of this study consisted of four banks: Bank CIMB Niaga, Bank Permata, 
Bank Pan Indonesia, and Maybank. This study used secondary data taken from the 
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is descriptive analysis and used linear regression analysis, F table, t table. The result 
indicates that LDR, IPR, NPL, APB, IRR, PDN, BOPO, FBIR simultaneously have a 
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and positive effect on ROA in Bank Umum Swasta Nasional Devisa.

A B S T R A K
Penelitian ini mencoba menganalisis secara simultan dan parsial pengaruh LDR, IPR, 
NPL, APB, IRR, PDN, BOPO, FBIR pada ROA di Bank Umum Swasta Nasional Devisa. 
Sampel penelitian ini terdiri dari empat bank: Bank CIMB Niaga, Bank Permata, Bank 
Pan Indonesia, dan Maybank. Penelitian ini menggunakan data sekunder yang diambil 
dari laporan keuangan Bank Umum Swasta Nasional Devisa. Periode bank adalah dari 
����������������()*>����������������������()*=���������������������������������������
deskriptif dan menggunakan analisis regresi linier, F tabel, t tabel. Hasil penelitian 
menunjukkan bahwa LDR, IPR, NPL, APB, IRR, PDN, BOPO, FBIR secara simultan 
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ROA di Bank Umum Swasta Nasional Devisa. NPL dan IRR secara parsial memiliki 
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dan positif terhadap ROA di Bank Umum Swasta Nasional Devisa.
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(Aktiva Valas - Pasiva Valas) + Selisih Balance of Sheet
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Modal Bank
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����	
���������	A���	F�����	1-	5"#('6�	F���
	F�4�
	F���������	
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A���<��	 5"#(86�	 !����	 ,�����
��	 5"#(&6�	 ���	 �����	 !������	 >��
�	
1������	5"#($6-

H7U	2=1=	��C���	
������	���
��
��	
�������	������4	
���	���������	
�������
	F=,	
���	2���	P���	������	!�������	9�+���-

)���&�	����������$�

��(FBIR)
O2�F	���
�������	������4	 �������
	F�����	=
����������	������	�
�����	
O2�F	 ���������	 �������	 �����	 ���3���	 
����������	 
���	 
����
����	
�
���������	 ������	 
����
����	 �����	 ������	 
���������	 �����	 �����	
������������	
���������	
����������	
����
����	�
����������	��������	
�������	��������	����	�����	���	�����
�����	
����
����	�
���������	
������	 �����	 ���������	 
���	 ���
�������	 ������	 �
���������	 ����	
�������-

O2�F	 ���
�������	 
�����4	 �������
	 F=,�	 ������	 �
�����	 O2�F	
���������	�������	�����	���3���	
����������	
���	
����
����	�
���������	
������	 �����	 ������	 
���������	 �����	 �����	 ������������	 
���������	

����������	
����
����	�
����������	��������	����	����	����	���������	
���	F=,	3���	���������-	F�����	=
���������	
���	������	������	O2�F	
���
�������	������4	�������
	F=,�	������	������	����������
�	O2�F	
���
�������	F�����	=
���������	���������	�����	F=,	�������-	

O2�F	 ���
�������	 ���������	 �������
	 F=,	 �����������	 
���	
�����
����	
���������	F���
	F�4�
	F���������	A���<��	5"#(86-

H8U	O2�F	 ��C���	 
������	 ���
��
��	 
�������	 
�����4	 
���	 ���������	
�������
	F=,	
���	2���	P���	������	!�������	9�+���-

F�������	
��������	
���	���3���	�����	�����	
���������	���	��
��	
�����������	��
����	
���	�����3�����	H�����	(-

3. METODE PENELITIAN
<
��	����	����'�

1�
�����	 �����	 
���������	 ���	 ������	 �������	 2���	 P���	 ������	
!�������	 9�+���-	 0�����	 
����������	 ���
��	 
���	 ���������	 ������	

@������X
:�����������	�	���
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������	 purposive sampling.	 ��������	 ���
��	 
���	 
���������	 ���	 ������	
�������	�������I	5(6	2���	P���	������	!�������	9�+���	���+���������	
5"6	2���	P���	������	!�������	9�+���	������	�����	����	��������	(88	
0������	F�
���	������	".#	0������	F�
���	
��%��������	��	�����	"#($�	5E6	
2���	P���	������	!�������	9�+���	
���	���������	
��������	����%
����	����	F=,	
���	��������	�	�����	"#(E	������	��������	��	�����	"#($-	
���
��	 ���
����	 ������	 '	 ����	 
����	 2���	 >��2	 !�����	 2���	 1,!	
����������	2���	1�������	2���	��
����	���������-

���������
	�	��
1���������	���	�����������	���
��	2���	P���	������	!�������	9�+���	

������	�����	��������	�	
���"#(E	������	��������	��	
���	"#($	������	
��������	 
���	 �����	 ����������	 ��������
�-	 9���	 
���	 ���������	
�����	 
���������	 ���	 ������	 ����	 ��������	 ����������	 
���	 ��
������	
�����������	 ������	
�����
����	����	�����������	����
��	�������	
��
����	��������	
��������	����	��	website =�������	D���	��������	5=D�6	 
���-�3�-��-�� dan pada website 	 2���	 ���������	 ���-��-��-�� untuk 
����������	��������	�������	����	�����	�����	��������	�����	�����-	

#��	���
�����
	�	��
)�������	�������	�����	
���������	���	������	F=,-	)�������	�����	�����	

���������	 ���	 
����	 F�����	 J���������	 
���	 ������	 �����������	 J9F	
���	�1F�	F�����	������	
���	������	�����������	!1J	���	,12�	F�����	
1����	
���	������	�����������	�FF	���	19!�	�����	F�����	=
���������	

���	������	�����������	2=1=	���	O2�F-

����	�	�*'����	���
�#��	���

�����(������	

�$�

� (LDR)
Loan To Deposit Ratio	 5J9F6	 ����
����	 
�����������	 ������	 3�����	
������	
���	���������	������	�����	����	
����	������	
���	��������	2���	
P���	������	!�������	9�+���-	

����	

�'����
���$�

� (IPR)
Investing Policy Ratio	 5�1F6	 ����
����	 
�����������	 ������	 �����	
��������	 ������	 �����	 ����	 
����	 ������	 
���	 ��������	 2���	 P���	
������	!�������	9�+���-	

/������!���
�'����� (NPL)
Non Performing Loan	5!1J6		����
����		
�����������			������			������	
����������	������	�����	������	
���	�����	���������	2���	P���	������	
!�������	9�+���-	

=��	>������%��	��
������
����=�
&
,���+�	 1�������4	 2���������	 5,126	 ����
����	 
�����������	 ����	

�������4	 ����������	 ������	 �����	 ����	 
�������4	 
���	 ��������	 2���	
P���	������	!�������	9�+���-

��
���	
�$�
��$
	+ (IRR)
Interest Rate Risk	 5�FF6	 ����
����	 
�����������	 ������	 Interest Rate 
Sensitive Asset	5�F�,6	������	Interest Rate Sensitive Liabilities	5�F�J6	
���	
��������	2���	P���	������	!�������	9�+���-	
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���	�	���>	���?��������?&
1�����	9�+���	!����	519!6	����
����	
�����������	������	����+�	+�����	
������	
���+�	+�����	������	�������	off balance sheet	������	�����	�����	
���	
��������	2���	P���	������	!�������	9�+���-	


	����
�����*'����	���
��
*�*&
2��
�	2����	=
���������	52=1=6	����
����	
�����������	������	���
�	
5�����6	�
���������	������	
����
����	�
���������	
���	��������	2���	
P���	������	!�������	9�+���-

)���&�	����������$�

� (FBIR)
Fee Based Income Ratio 5O2�F6	����
����		
�����������		������	
����
����	
�
���������	������	�����	������	
����
����	�
���������	
���	��������	
2���	P���	������	!�������	9�+���-	

$�
��������		�
	 (ROA)
Return On Assets	 5F=,6	����
����	
�����������	������	 ����	�������	

�3��	 ������	 �����	 ����	 
���	 ��������	 2���	 P���	 ������	 !�������	
9�+���-	

4. ANALISIS DATA DAN PEMBAHASAN
Y��	
�=��
	�	����������������
������%��;�:��������'�:*=
0����	 "	 �����3�����	 �����	 +�������	 J9F	 ���
��
��� ��	�%��� �������	
-2,742 dan t�����	�������	(�..'E&	����	�������	�����������	�������	#�#8	���	�4	
U	&*�	��������	��
��	���������	�����	�hitung -2,742 < t�����	(�..'E&�	���
����	
����	�����	��������	��������	������	A0 ��������	���	A1	�������	
���	�����
�	
J9F	��C���	
������	���
�������	������4	
���	�����	���������	�������
	
F=,-	

������%����:��������'�:*=
�1F	 ���
��
��	 ��	�%����������	 %'�&$(	 ���	 ������	�������	 (�..'E&�	 ��������	
��
��	 ���������	 �����	 ��	�%��-4,781 < t�����	 (�..'E&�	 ���
����	 ����	 �����	
��������	 ��������	 ������	 A0 ��������	 ���	 A1 �������	 
���	 �����
�	 �1F	
��C���	
������	���
�������	������4	
���	�����	���������	�������
	F=,-	

!���
�Z
Hasil Analisis Regresi Linear Berganda

����� 2 thitung t����� Sig. r r(

5>�������6 11.000
LDR 5£16 -0,012 -2.742 (�..'E& 0,008 %#�"*8 -0,028
IPR 5£26 -0,024 -4.781 (�..'E& 0,000 -0,474 -0,048
NPL 5£E6 #�#8# (-.*8 %(�..'E& 0,#*' 0,187 0,017
,12 5£46 %#�#E& -1.141 %(�..'E& 0,"8& -0,127 -0,011
IRR 5£86 0,004 -*#& YT%	(�**#'8 0,E.& 0,101 #�##*
PDN 5£66 -.0,012 %"-'EE YT%	(�**#'8 0,017 -0,264 -0,024
2=1= 5£76 -0,101 %8$-'#' %(�..'E& 0,000 %#�*$* %#�8$.
O2�F 5£86 0,006 (-$E& (�..'E& 0,070 0,202 0,018
F	������	U	#�**" Ohitung	U	("E"�.'( ���-	U	#�###
F	U	#�**. O�����				U									"�#.

������	I Hasil Pengelolahan SPSS
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2�����
�	��������	�����������	
������	������	#�""8	
���	�������	��C���	

������	+�������	�1F	����������	����������	�������	""�8	
�����	�������
	
F=,-

������%��?�;��������'�:*=
!1J	���
��
��	��	�%����������	(�.*8	���	������	�������	%(�..'E&�	��������	
��
��	 ���������	 �����	 ��	�%��� �(�.*8	 \	 ������	 %(�..'E&�	 ���
����	 ����	 �����	
��������	 ��������	 ������	 A0 ��������	 ���	 A1	 �������	 
���	 �����
�	 !1J	
��C���	
������	���
�������	������4	
���	�����	���������	�������
	F=,-	
2�����
�	��������	�����������	
������	������	#�#E8	
���	�������	��C���	

������	+�������	!1J	����������	����������	�������	E�8	
�����	�������
	
F=,-

������%��=�
��������'�:*=
,12	���
��
�����	�%����������	%(�('(	���	������	�������	%(�..'E&�	��������	
��
��	 ���������	 �����	 ��	�%���%(�('(	 \	 ������	 %(�..'E&�	 ���
����	 ����	 �����	
��������	 ��������	 ������	 A0 ��������	 ���	 A1 �������	 
���	 �����
�	 ,12	
��C���	
������	���
�������	������4	
���	�����	���������	�������
	F=,-	
2�����
�	��������	�����������	
������	������	#�#(.	
���	�������	��C���	

������	+�������	,12	����������	����������	�������	(�.	
�����	�������
	
F=,-

������%���::��������'�:*=
�FF	 ���
��
��	 ��	�%��� �������	 #�*#&	 ���	 ������	 �������	 YT%	 (�**#'8	 ����	
�������	 �����������	 #�#"8	 ���	 �4U	 &*�	 ��������	 ��
��	 ���������	 �����	
t�����	 %(�**#'8	 ]	 ��	�%��� � #�*#&	 ]	 ������	 	 (�**#'8�	 ���
����	 ����	 �����	 ��������	
��������	������	A0 ��������	���	A1 �������	
���	�����
�	�FF	��C���	
������	
���
�������	 
���	 �����	 ���������	 �������
	 F=,-	 2�����
�	 ��������	
�����������	
������	������	#�#(#	
���	�������	��C���	
������	+�������	�FF	
����������	����������	�������	(�#	
�����	�������
	F=,-

������%����?��������'�:*=
19!	 ���
��
��	 ��	�%��� �������	 %"�'EE	 ���	 ������	 �������	 YT%	 (�**#'8�	
��������	��
��	���������	����� ��	�%���%"�'EE	]	������	%(�**#'8	����	�������	
�����������	#�#"8	���	�4U	&*�	���
����	����	�����	��������	��������	������	
H0 �������	���	A1 ��������	
���	�����
�	19!	��C���	
������	���
�������	

���	 ���������	 �������
	 F=,-	 2�����
�	 ��������	 �����������	 
������	
������	 #�#&#	 
���	 �������	 ��C���	 
������	 +�������	 19!	 ����������	
����������	�������	&�#	
�����	�������
	F=,-

������%��
*�*��������'�:*=
2=1=	 ���
��
��	 ��	�%��� �������	 %8$�'#'	 ���	 t�����	 �������	 %(�..'E&�	
��������	 ��
��	 ���������	 �����	 ��	�%���%8$�'#'	 ]	 t�����	%(�..'E&�	 ���
����	
����	�����	��������	��������	������	A0 �������	���	A1 ��������	
���	�����
�	
2=1=	 ��C���	 
������	 ���
�������	 ������4	 
���	 ���������	 �������
	
F=,-	 2�����
�	 ��������	 �����������	 
������	 ������	 #�*&$	 
���	 �������	
��C���	
������	+�������	2=1=	����������	����������	�������	*&�$	
�����	
�������
	F=,-

������%��[
�:��������'�:*=
O2�F	 ���
��
��	 ��	�%����������	 (�$E&	 ���	 ������	 �������	 (�..'E&	 ��������	
��
��	 ���������	 �����	 ��	�%��� (�$E&	 \	 ������	 (�..'E&�	 ���
����	 ����	 �����	
��������	 ��������	 ������	 A0 �������	 ���	 A1 ��������	 
���	 �����
�	 O2�F	
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��C���	 
������	 ���
�������	 
�����4	 
���	 ���������	 �������
	 F=,-	
2�����
�	��������	�����������	
������	������	#�#'(	
���	�������	��C���	

������	+�������	O2�F	����������	����������	�������	'�(	
�����	�������
	
F=,-

������%��:	�	���;	�%	�	�����������'�:*=
J9F	��C���	
������	���
�������	������4	
���	�����	���������	�������
	
F=,	 ������	 ����������	 
�������	 �������	 $�&	 
������	 ��������	 ��
��	
�����
�����	�����	��
������	�����	
���	���
������	�����	J9F	��C���	

������	���
��
��	
�������	
�����4	
���	���������	�������
	F=,	
���	
2���	P���	������	!�������	9�+���	�������-	2����������	�����	���������	
����	 F�����	 J���������	 ���
�������	 
�����4	 �����	 ���������	 �������
	
F=,-	 A����	 ���	 ���������	 
�������	 ��������
�	 
����	 F���
	 F�4�
	
F���������	A���<��	5"#(86	���	9���	F��������	5"#($6	
���	���
������	
�����	J9F	���
�������	������4	�����	���������	�������
	F=,-

�1F	 ��C���	 
������	 ���
�������	 ������4	 
���	 �����	 ���������	
�������
	F=,	������	����������	
�������	�������	""�8	
������	��������	
��
��	�����
�����	�����	��
������	������	
���	���
������	�����	�1F	
��C���	 
������	 ���
��
��	 
�������	 
�����4	 
���	 ���������	 �������
	
F=,	 
���	 2���	 P���	 ������	 !�������	 9�+���	 �������-	 2����������	
�����	���������	����	F�����	J���������	���
�������	
�����4	�����	���������	
�������
	F=,-	A����	���	���������	
�������	��������
�	
����	F���
	
F�4�
	 F���������	 A���<��	 5"#(86	 ���	 !����	 ,�����
��	 5"#(&6	 
���	
���
������	 �����	 �1F	 ���
�������	 ������4	 �����	 ���������	 �������
	
F=,-

������%��:	�	���<���	���������'�:*=
!1J	��C���	
������	���
�������	������4	
���	�����	���������	�������
	
F=,	 ������	 ����������	 
�������	 �������	 E�8	 
������	 ��������	 ��
��	
�����
�����	 �����	 ��
������	 ����
��	 
���	 ���
������	 �����	 !1J	
��C���	 
������	 ���
��
��	 
�������	 ������4	 
���	 ���������	 �������
	
F=,	
���	2���	P���	������	!�������	9�+���	�������-

2����������	�����	���������	����	F�����	������	���
�������	������4	
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DAFTAR RUJUKAN

2���	 ���������	 5"#((6	������J������2	��*><(6<?&2&���������(V�Z��	����
()**�&�������&���������N�����������������J������.����
��	������2	�	��
R<(><?&2&� �������� (*� ���� ())6� �������� ������� &��������� ��������
N���������.����0���.

9���	F���������	"#($�	®1�������	J����������	��������	,���+��	�������+����	
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Unud,	���!	"E#"%$*("�	)�����	&	!����	&-

!����	,�����
��	 5"#(&6	1�������	F�����	P����	0������
	1������������	
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������	"#($-

=�������	 D���	 ��������	 5"#(.6	 &��������� Z�	������ 7���� N�������� 2	�� *=<
&Z7N�)><()*R� �������� *R� ������ ()*R� &������� &��������� ����"�����
Risiko Bagi Bank Umum.
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)����<��	 F�+���	 ��4
��	 2�����	 �������	 ����������	 ,��4���
	 1������	
)����<��	 5"#(E6	 Commercial Bank Management:Manajemen Perb-
������?������	���N��&������. Edisi Pertama-	D������I	10	F�3�	H������	
Persada.
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;=���:=?�X\�;�'�����<�%�������%�
	���	�*���	����]����<�%�����
No Nama Bank 2013 2014 Tren 2015 Tren 2016 Tren 2017 Tren 2018* Tren Rata-Rata ROA Rata-Rata Tren
1 PT. BANK AGRIS, TBK. 0,77 0,29 -0,48 0,17 -0,12 0,15 -0,02 -0,20 -0,35 -0,60 -0,40 0,10 -0,27
2 PT. BANK BUKOPIN, TBK. 1,75 1,33 -0,42 1,39 0,06 1,38 -0,01 0,09 -1,29 0,61 0,52 1,09 -0,23
3 PT. BANK BUMI ARTA, TBK. 2,05 1,52 -0,53 1,33 -0,19 1,52 0,19 1,73 0,21 1,60 -0,13 1,63 -0,09
4 PT. BANK CAPITAL INDONESIA, TBK. 1,59 1,33 -0,26 1,10 -0,23 1,00 -0,10 0,79 -0,21 1,21 0,42 1,17 -0,08
5 PT. BANK CENTRAL ASIA, TBK. 3,84 3,86 0,02 3,84 -0,02 3,96 0,12 3,89 -0,07 3,59 -0,30 3,83 -0,05
6 PT. BANK CHINA CONSTRUCTION BANK INDONESIA, TBK. 1,74 0,79 -0,95 1,03 0,24 0,69 -0,34 0,54 -0,15 0,66 0,12 0,91 -0,22
7 PT. BANK CIMB NIAGA, TBK. 2,75 1,60 -1,15 0,21 -1,39 1,19 0,98 1,67 0,48 1,69 0,02 1,52 -0,21
8 PT. BANK DANAMON INDONESIA, TBK. 2,75 3,14 0,39 1,45 -1,69 2,26 0,81 3,00 0,74 3,11 0,11 2,62 0,07
9 PT. BANK GANESHA 0,99 0,21 -0,78 0,36 0,15 1,62 1,26 1,59 -0,03 1,26 -0,33 1,01 0,05
10 PT. BANK HSBC INDONESIA 1,19 0,30 -0,89 0,11 -0,19 0,47 0,36 0,02 -0,45 1,63 1,61 0,62 0,09
11 PT. BANK INDEX SELINDO 2,40 2,23 -0,17 2,06 -0,17 2,19 0,13 1,78 -0,41 1,26 -0,52 1,99 -0,23
12 PT. BANK JTRUST INDONESIA, TBK. -7,58 -4,96 2,62 -5,37 -0,41 -5,02 0,35 0,80 5,82 0,15 -0,65 -3,66 1,55
13 PT. BANK MASPION INDONESIA, TBK. 1,11 0,80 -0,31 1,10 0,30 1,67 0,57 1,60 -0,07 1,30 -0,30 1,26 0,04
14 PT. BANK MAYAPADA INTERNASIONAL, TBK. 2,53 1,98 -0,55 2,10 0,12 2,03 -0,07 1,30 -0,73 0,97 -0,33 1,82 -0,31
15 PT. BANK MAYBANK INDONESIA, TBK. 1,53 0,41 -1,12 0,80 0,39 1,48 0,68 1,23 -0,25 1,23 0,00 1,11 -0,06
16 PT. BANK MAYBANK SYARIAH 2,87 3,61 0,74 -20,13 -23,74 -9,51 10,62 5,50 15,01 6,90 1,40 -1,79 0,81
17 PT. BANK MAYORA 0,36 0,64 0,28 1,24 0,60 1,39 0,15 0,81 -0,58 0,71 -0,10 0,86 0,07
18 PT. BANK MEGA SYARIAH 2,33 0,29 -2,04 0,30 0,01 2,63 2,33 1,56 -1,07 0,98 -0,58 1,35 -0,27
19 PT. BANK MEGA, TBK. 1,14 1,16 0,02 1,97 0,81 2,36 0,39 2,24 -0,12 2,07 -0,17 1,82 0,19
20 PT. BANK MESTIKA DHARMA, TBK. 5,42 3,86 -1,56 3,53 -0,33 2,30 -1,23 3,19 0,89 2,75 -0,44 3,51 -0,53
21 PT. BANK MNC INTERNASIONAL, TBK. -0,93 -0,82 0,11 0,10 0,92 0,11 0,01 -7,47 -7,58 2,48 9,95 -1,09 0,68
22 PT. BANK MUAMALAT INDONESIA 0,50 0,17 -0,33 0,20 0,03 0,22 0,02 0,11 -0,11 0,49 0,38 0,28 0,00
23 PT. BANK MULTIARTA SENTOSA 2,65 2,00 -0,65 1,60 -0,40 1,76 0,16 1,63 -0,13 1,37 -0,26 1,84 -0,26
24 PT. BANK NATIONALNOBU, TBK. 0,78 0,43 -0,35 0,38 -0,05 0,53 0,15 0,48 -0,05 0,59 0,11 0,53 -0,04
25 PT. BANK NUSANTARA PARAHYANGAN,TBK. 1,58 1,32 -0,26 0,99 -0,33 0,15 -0,84 -0,90 -1,05 0,01 0,91 0,53 -0,31
26 PT. BANK OCBC NISP, TBK. 1,81 1,79 -0,02 1,68 -0,11 1,85 0,17 1,96 0,11 2,14 0,18 1,87 0,07
27 PT. BANK PAN INDONESIA, TBK. 1,85 1,79 -0,06 1,27 -0,52 1,68 0,41 1,61 -0,07 1,66 0,05 1,64 -0,04
28 PT. BANK PANIN DUBAI SYARIAH 1,03 1,99 0,96 1,12 -0,87 0,37 -0,75 -10,77 -11,14 0,26 11,03 -1,00 -0,15
29 PT. BANK PERMATA, TBK. 1,55 1,16 -0,39 0,16 -1,00 -4,89 -5,05 0,61 5,50 0,50 -0,11 -0,15 -0,21
30 PT. BANK QNB INDONESIA, TBK. 0,07 1,05 0,98 0,87 -0,18 -3,34 -4,21 -3,72 -0,38 -0,85 2,87 -0,99 -0,18
31 PT. BANK RAKYAT INDONESIA AGRONIAGA, TBK. 1,66 1,53 -0,13 1,55 0,02 1,49 -0,06 0,01 -1,48 0,02 0,01 1,04 -0,33
32 PT. BANK RAKYAT INDONESIA SYARIAH, TBK. 1,71 0,46 1,15 0,08 -0,38 0,77 0,69 0,95 0,18 0,51 -0,44 0,75 0,24
33 PT. BANK SBI NDONESIA 0,97 0,78 -0,19 -6,10 -6,88 0,17 6,27 2,52 2,35 2,90 0,38 0,21 0,39
34 PT. BANK SHINHAN INDONESIA 0,96 1,16 0,20 0,76 -0,40 0,75 -0,01 2,19 1,44 2,20 0,01 1,34 0,25
35 PT. BANK SINARMAS, TBK. 1,71 1,02 -0,69 0,95 -0,07 1,72 0,77 1,26 -0,46 1,86 0,60 1,42 0,03
36 PT. BANK SYARIAH MANDIRI 2,56 1,53 -1,03 0,56 -0,97 0,59 0,03 0,59 0,00 0,89 0,30 1,12 -0,33
37 PT. BANK TABUNGAN PENSIUNAN NASIONAL, TBK. 4,54 3,56 -0,98 3,12 -0,44 3,06 -0,06 1,19 -1,87 2,41 1,22 2,98 -0,43
38 PT. BANK UOB INDONESIA 2,38 1,23 -1,15 0,77 -0,46 0,77 0,00 0,32 -0,45 0,85 0,53 1,05 -0,31
39 PT. BANK VICTORIA INTERNASIONAL, TBK. 2,10 0,80 -1,30 0,65 -0,15 0,52 -0,13 0,64 0,12 0,52 -0,12 0,87 -0,32

1,56 1,21 -0,29 0,24 -0,98 0,62 0,38 0,68 0,06 1,38 0,71 0,95 -0,02RATA-RATA

����������	�	I	
��	D���	"#($
������	I	��
����	��������	
��������	��������	3���	��������	5���-�3�-

��-��6






